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QUESTION 1

A customer is using VMware vSphere in their data center. An administrator is asked to deploy SD- WAN Edges for a
Proof of Concept as soon as possible. Which deployment option is the roost cost and time effective?

A. Deploy a virtual appliance on ESXi
B. Purchase bare metal Edge

C. Deploy a virtual appliance in AWS
D. Deploy a virtual appliance on KVM

Correct Answer: D

QUESTION 2

Which VMware SR-WAN component runs the Deep Application Recognition Engine?
A. VMware SD WAN Orchestrator

B. VMware SD-WAN Controller

C. VMware SD-WAN Gateway

D. VMware SD-WAN Edge

Correct Answer: B

QUESTION 3

A VMware SD-WAN customer has a requirement to enable single sign-on (SSO) authentication to their
existing provider (idp) for access to their Orchestrator account.

Which authentication protocol is supported?

A. OpenlID Connect (OIDC)

B. LDAP

C. SAML 2.0

D. TACACS+

Correct Answer: C

QUESTION 4
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An administrator is looking for a cost effective model of hardware-based Edge for some branch offices. The
device must be mounted in rack cabinet, and to meet performance requirements and projected growth, the
appliance must support up to 2 Gpbs bandwidth.

Which Edge model satisfies these requirements?

A. Edge 3400

B. Edge 540

C. Edge 510

D. Edge 620

Correct Answer: B

QUESTION 5

A customer has a 10,000 branch site requirement arid must use a hub cluster in their design. Which Mware SO- WAN
best practice should be used when designing the cluster?

A. BGP on WAN side

B. Static routing

C. MP BGP south bound
D. BGP on LAN side

Correct Answer: C
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